SERVICE PARTS

64000 Series
Ta g N
® hS
KEY QTY (hood width)
# PART NUMBER DESCRIPTION 30" | 36" | 42 | 48
1 V03493 "RANGEMASTER" LOGO 1 1 1 1
2 V02264 LAMP SOCKET 4 4 5 5
3 V02773 MALE CONNECTOR 1 1 1 1
4 V02772 FEMALE CONNECTOR 1 1 1 1
5 V03435 THERMAL CUTOFF 206°F 1 1 1 1
6 V03436 SUPPORT FOR THERMAL CUTOFF 1 1 1 1
7 V03501 RANGEMASTER SPEED CONTROLLER 1 1 1 1
8 V03507 SPST CARLING SINGLE SWITCH 2 2 2 2
9 V03502 SPST CARLING DOUBLE SWITCH 1 1 1 1
10 V03503 SPST CARLING LIGHTED SINGLE SWITCH 1 1 1 1
11 V03504 RANGEMASTER SPEED CONTROL BUTTON 1 1 1 1
12 V03505 RANGEMASTER TERMINAL STRIP 1 1 1 1
V03517 RANGEMASTER 10" POWER CORDS 1 1 1 1
V03518 10" RANGEMASTER CORDS FOR HEAT LAMP 2 2 2 2
V03519 RANGEMASTER 10" CONTROL WIRE 1 1 1 1
V03520 RANGEMASTER 10" LIGHTED SWITCH WIRE 1 1 1 1
13 V00673 LOCK NUT #8-32 2 2 2 2
14 V02512 SCREW #8-32 X 1/2" QDRX 2 2 2 2
15 V01869 MACHINE SCREW #8-32 X 1/4" 1 1 1 1
16 V01582 LOCK NUT #6-32 1 1 1 1
17 V00606 SCREW #8-3/8"T/B #8 HEAD 7 7 8 8
18 V03509 RANGEMASTER FILTER 8,930 X 9,800 2 - 2 -
V03510 RANGEMASTER FILTER 11,930 X 9,800 1 3 2 4
19 V13216 GREASE COLLECTION CHANNEL 30" 1 - - -
V13217 GREASE COLLECTION CHANNEL 36" - 1 - -
V13218 GREASE COLLECTION CHANNEL 42" - - 1 -
V13219 GREASE COLLECTION CHANNEL 48" - - - 1
20 V03686 FILTER CLIP 3 3 4 4
V02544 HALOGEN LAMP 2 2 3 3
V03598 HEAT LAMP 2 2 2 2
V03515 INSTALLATION GUIDE 1 1 1 1
V13278 PARTS BAG ((4) lock nut #10-32, (1) wire clamp LP16-AP, (8) double thread screw | 1 1 1 1
6-12X0.5, (2) wire connectors #74B, (6) #8x3/8" screws, (2) #6x1/2" screws)

-14 -



64000 SERIES
RANGE HOOD ot
SYSTEM exterior blower

D <=

Model 647 Model 634 or 644  Model 643

(7”’Rd wall cap) (roof cap) »
~~~~~ s X (BRdwallcap) Model 421
~~~~~~~ Model 418 <—" (10" Rd. vert. in-line damper)

i v (10” Rd adjustable elbow)

7" Rd
standard
duct

8” Rd
standard
duct

Model 410
(10” Rd. duct - 2 ft. sections)

Model 412 Model 413

transition B
(31/4°x10"t0 8" __.---7" ™

Flow deviator
(vertical exhaust only) 2
(supplied with hood) %

Adapter and T
damper .
(supplied ..
with hood) -

Model 332 KR
exterior blower
rough-in kit

Rough-in kit (supplied 64000 SERIES HOOD
with P5 and P8 blowers)

. Model P8
dual-blower
' (850 cfm)
Model P5 single-blower
(500 cfm) \/
Backsplash
(RP Series)




